029-036( C*-009) (1/1)

029-036

cm

10(20

10(20(30

VAYAYAYA
VAAAI
AANAN
VAVAVAVAY]
ANANAN
VAVAVAVAY]
NN 1.15 20215
VAVAYAYAY] DA =
11011 |32 4.7
VAAAI
AAAAN 1.47
VA
ANAAAN
(VAVAVAVAY] 12.15 |
NN 1
VAVAYAYAY]
IAYAYAYAYA 2.48
VAAAI
ANANAN
(VAVAVAVAY] 3.50 |3.15
ANAAAN
VAVAVAVAY]
IVAYAYAYRY —
VAAA W

=3
s
S
o
S
o
S
N
S
o
S
LLLLTLTR

H
(RN
s

(NN}
B~

4.9

3.

o
5 \
kN
&

o

N

N

ENo
[ENNEEEN

15.45]

AVARAWAREY
il 4.15 18 =
Yiviwlt / =
WATAYAVAY; 7]6 |5 ]3] 19 =
RYAVAIVY 745 =
A\YAVAVAVAY —
1.a9/\ A A VA =
SRR
e 15-151 ; =
rreryy 2|3 ]2]3]| 1 =
AR 5.45 —
AR
CELLT —
crerer
trrey ] / L e
1]2]2]3]| 4 =
erer 575 I 3
TETCT T \ -
TELLT T 50 —
TP 7.15 / —
2300 cnns 20 | 30 20| 75 T\ 3
akleX 7.35 =
0:0r0 =
62596 28 50 3
[HoRtel 8.15 / / =
59676 2|8 18 [83.9 =
SO0 0O~ 8.33 4
0-0-0 =
[epXek =
0:0r0 0 =
(e (o) l9.15 | -
62626 7 4 E
S0r 0> 101416 [30] 4
OC-)OéO 9.45
O-0-0 =
69026 po.1s i e
~0r0* 9 |ol13]30] 3 =
Q5059 10.45 =
05050 50 50 =
~0-0* / /
050,09 1115 5 8 | 169 N E
59594 1.23 E
o kteN 3
05269 50 3
05959 12-15) 59 10 15 N E
O-0-0 12.25]
[epXek =
0:0r0 3
69696 % =
00 C 13.15 /
596265 20 | 30 20| 74 -
= SO0 0O~ 13.35] i
E O'OOC')O =
E S0 0 15 50 =
Eu 05959 was| |7 / =
= 69676 3|5 15 | 100 3
E [HoRtel 14.30 3
= OC-)OéO —
E . _[14.08 7.7 7"~ =
=15 15.15 22




